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- pay480
Howmuch was iveinvested at 4%Compoundedsemiannuallyfor ByerS if the find amount WAy7500?

SOI let's write fist thefunction
.

Say Ala)I Amorist of in$ath -half-years
AEInitialamount

A(n) = Ao(1.0.04)
h

IProblem asks for Ho
_ _ 0



3 years6 semiannually
"

"

lThey Say that A (67=7500
HenleHon=7500

Simplifyingto0.78=7500
Dir.ide by O.t8

AO = #7500 0.78 =
!o

1.0%

6 A/ - ï1.27
1.17

_7500 1.77: 5905.58

ï
"Information fromProblem statement-



Example3 _
pay482

What annual interestwas charged ifaU $800

creditcar& billgrew to $970.99in 6 months

an the interest was compoundedmonthly?

l

got6 tS summarize the "story":WCWspent800$ w/orr
Credit herdandmissedtopay itbythe deardive.

the bank Then startedchargingah intereston that debt.
!the interest gets Compoundedmonthlyl After 6wonts weove

the bank$920.99
Write the fomiteA(metol'sign



AE000 Thestatement saysthat

A/6)=970.99

800/1l
6
= 970.99

Isolatethe parenthesis
'

by dividing by 800
hi's.970.99

800

Now raise to powerl-

.

(hi,"w Tot=

Z 1.15

(1.15]!



{Fight.15 t

(tintz 1.151%
It; = 1.15%
i = 1.15%_h= or1.15-s 12.0.023b

Hence2.36%ZLie



Example" -
Py484

Approximately how long Would it takefor an
a $1500U investment to doubleifit earns
a 10% interest compoundedsemi-annually?

.

got Wite formula
' \ -(n)=PC"ifs

P=1560
it 0.1{e) ttln\.t500/ïn!

- k

.

Ziost
1.05h



One way appox:1.052 =

We want to find
when 1.05=2

1.1025

1.0515 =2.08
1.05'" =1.98


